UGSl-S — Qung) oifley

Part-A — General Studies

eSlevtnéseir 1-100 Gl s Logll;l@usﬁﬁ&sh: 150
Questions :1-100 - Total Marks :150
1. Which one of the following pairs is wrongly matched?
Revolt Area
r (I) Ramosis — " Poona \_~

() Kuka . — Punjab "

(II) Santhals —  Orissa .~

IV) Kittur —  Malabar ><

(&) (D and (III) only
(B) (III) and (IV) only ot -
'5 - SIHANIKAR

(C) (V) only -

(D) (III) only

(E) Answer not known

Qeeumb @ enensatled g,sugonecrrmg)mm sar By

=% IAS ACADEMY"

. Best Academy for Civil Services Exam Coaching

Homirs ued
(D _ grGomslen = Lyerm
) e — u@&rru'

(A1) siseen —  gfler

av) ac@r - LOGLIMIT
A) @) wpmw (III) wLEb

(B) (III) wpmid (IV) wl@bd

(C) (AV) oL@ |

(D) () v,
(E) ofen @sflwaidae
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9. “Problem of the Rupee” is the thesis submitted by

(A)- Dr. B.R. Ambedkar
(B) M.G. Ranade

(C) J.C. Kumarappa
(D) Mahalanobis

(E) Answer not known

“punder Qrssoer” e Qpiiauflémsmu - _ FOACIGSTT.
(A) II_D'E'EL._fI' 9.y ir. bCUSST |
(B) wsr. Gsr. rraGL

©) Gg;aﬂ. @wrium

(D) wareGamae

(E) el Qzflweidene

A SHANKAR
225 IAS ACADEMY”

Eest Academy for Civil Ses r\rlca s Exam Coaching

3. Who wrote a series of articles entitled ‘New Lamps for 0O1d’?
(A) Dinshaw Wacha .
(B) Dadabhai Naoroji
(C) Surendranath Banerjee
(D) - Aurobindo Ghosh
(E) Answer not known
‘Bluy, @MDLIG oL . Geumeol.  eTemgiLd ,s_r_,mé)uﬁlsb sl @ers Qsmfleer
er(pSweurt wm? -
(A) Sénagm QUITEET
(B) srgmumi 61;5611(30“@
(C) sGrpdyprs LreiEd
(D) el BGCHM Ganey
(E) &l Qsfweidma
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Match the following correct Institutions with its location :

(a) NIFPHESI_‘BQ. Bangalore_
() CICET . Kochi
(c) NFDB

Chennai

(d) CAA . Hyderabad

@ ® (@ @
@1 2 3 4
®.2 1 4 3
(C) 2 4 1 3
D) 3 1 4 2
(E) Answer not known -

Qetreu(mid HlmicuanaSemeT 156 ElﬂU_IITGbT @@uﬂl_g,g,u_m Qun@g,gmm
(a) NIFPHATT 1. QumiseEsm

(b) CICEF 2. Qangé
(c0 NFDB - 3. Qeerenar
(d) CAA 4. oapsyTUTs

@ ® (@© @

@1l 2 3 4

®2 1 4 3 A SHANKAR

© 2 4 1 3 =25 IAS ACADEMY"
D) 3 1 4 2

(E) e Qs fweidene

5 - ' - CCSE2E/2024
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5.  Assertion [A] :

Reason [R]

In India, the traditional small scale industriec

have greater employment potential than the
modern small scale industries.

The value of capital per worker in traditional
small scale industries is smaller than the value of
capital per worker in the modern small scale
industries.

(A). Both [A] and [R] are true and [R] is the correct explanation

of [A]

(B) Both [A] and [R] are true but [R] is not a correct explanation

of [A]

' (C) [A]is true but [R] is false
(D) [A]is false but [R] is true
(E) Answer not known

sapm [A]

&y [R] :

@Qpdwrefe umybufw HmQsmfldser <l

Caveaamitienu Beier m Qsmflesearail

GuLpmI& Sl esTm et

umrgbufw Q@ng@]maaﬂm Qsmfleorarmée CeameutiL@bd
tpgar LY Gopansend peer S Qzrfdsafld
Qzmfleomer(mées Caaautiu@ib ELP QO S 6oT wsluy
A$lE g6y D 2 6Ters).

(A) [A] womw [R] @mvr@m #fl whmb [R] Grem_ng; [A]&a;rrsur sflwimen

G)SIGTTESSLD

(B) [A] vppw [R] @raw@id &rﬂ gare [R] eeaug [Aller sfwmar
aller& s @manm

(C) [A] &Ml e [R] soum
(D) [A] sum <pammed [R] &M

(E) ofen Qsflwefcrencw
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Which of the following statement is correct?

(a)

(b)

@)
(B)
©)
®)
(E)

Equitable dgvelopment is the main target of Eleventh Five

Year Plan (XI FYP) _>(

Rapid, sustainable and more inclusive growth are main targets

of Eleventh Five Year Plan. X
Both (a) and (b) are correct

(b) alone is cofrect

(a) alone is correct.

Both (a) and (b) are in'corr'ecf

Answer not known

QéaupeuaTeDmIET 6T5 EMwMaTana ?

(a)

M)

(&)
(B)
(©)

(D)
(E)

ELD?QJQJLDI‘I:GM arGarhmLd 11@5} gj;gqe&w(b\g, ‘e_f,]l;plej',é]sﬁr '(Sllbné;a;mrr@m.
&Qﬁwﬁmneﬁ, Hlepaowimer HMILD a@&Qu&ru__lrrsur o draTL_ &S cueTi&s
lléugj ohSTRTHS SL sl w&Hw CrrésnigermELd

(a)-mﬁ)gub (b) @ran@ shwurarema

(b) wr_Ew sflwreans

(8) @i sfurars '
‘ A SHANKAR .
#=% IAS ACADEMY"

-
1
SINCE 2004 Eest Academy for Civil Services Exam Coaching

(a) wpmb (b) GraTHL SaupTET®6 4

anL Qs Mweiidame
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7 Which among the following is correct regarding the target of literacy

in Tenth Plan? o
(A) to Increase of literacy to 75% within the plan period

(B) to increase of literacy to 80% within the plan period
(C) to increase of literacy to 70% within the plan period
(D) to increase of literacy to 85% within the plan period
" (E) Answer not known |

Qereupeuamapmier  LSSTE [ ETOSHD slunar swelwufle; Qsriumen 'l
Qoéd

(A) g]r_l_ésasrrm‘&;g,l@ 75 eN(p&aTLTs soelwmaild 2 witay
(B) drLssrasde 80 dlwssr s soallwudeile 2 wiey
(C) PHirssragded 70 efwsar_rs soelufleisd 2 wiay
D) HrLssrasdd 85 aﬂ@é&&rruraﬁ soelwdelldr 2 wie]
(E) efe Qs fwedeena

8.  Consider the following statements and: identify the correct answer :
(A) The Central CIC is eligible for reappointment but the State
CIC is not eligible for reappointment

(B) - The State CIC is eligible for reappointment but the Central -
" CIC is not eligible for reappointment

(C) Both are eligible for reappointment
- (D) Both are not eligible for reappointment
(E) Answer not known
Epsranib sapmismer sHSSD Qaren®, silwmer GﬁlmLmng, Caiib0sh&s :

A) wsdu s@wmL S5 c%mmw@a;@ woFluberd FTSSWD, <BeTTeD
LI S@OMD HEIM Y@ERTLI(HES WHHwLETD TSSO -

(B) wmhe soamo sseud .%Gmcﬁuru_l@'as@ woflwwend srsSHub, e
LSEL SOOI H&EaID %Gﬁ)ﬂ'ﬁl‘u.l@&;@ wmBlwweTd &rgslwwae

(C) BoaumsEGw vyBwwend sTESHWLD

D) YovauméEto wyFluwears &rrg,‘é,]mmmm
(E) aflen G\g,rﬂtuaﬁﬂmmm

) SHANKAR o
2% IAS ACADEMY”

F
SIMCEZMI Best Acade lemy for Civil Services Exam Coaching
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Find out the incorrect statement about the Sarkaria Commission :

@)

(i1)

(ii)
(iv)

A
®)
©
Xy
)

The Commission was appointed on 1983 ~

The Commission made 247 recommendations
The Commission recommended to scrap the Article 356%

The Commission recommended that the residuary powers of

taxation should be given to the states
(111) and (iv) only .

(i) and (iii) only

only (iv)

(i9), (iif) and (iv)

Answer not known

Fr&sTIWT aerrb UpPlu geuprar spdlener sear_dls :

()
(1) -
(111)-
(1v)

@)
®)
©
o
(E)

ssEmALT < EDETWILD 1983-1b <@TH FHUHSSILL LS

Qs %m@mm 247 ufpg ersaer SielEss)

sy 356-g fe@asHE @bs Y@@ UAEE @S5S

afcddode sder a@du Sfsmusa Lrflensdib  @nss
Couam@id creny @is p@eud UNbHIOTESS!.

(iii) wpmd (iv) wLED |
(i) wpgud (iii) wi G |
(iv) wL @

(i), (iii) wpmd (V)

A SHANKAR .
%o IAS ACADEMY

Gﬁ] m |_ Gg [ﬂ u—J Gﬂ] G-D Gm GD ’ SINCE 2004 r Eest Academy for Civil Services Exam Coaching
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10. Choose the correct pair :

1)
2)
(3)
(4)
@),

(©)
(E)

Name of the President
Dr. S. Radha Krishnan
Dr. Zakir Hussain
Fakhruddin Ali Ahmed
N. Sanjeeva Reddy

(1) and (2) are correct -
(3) and (4).are corre;ct

Answer not known

gflwmer @mmmu‘ s :

(1)
(2)
(3)

@

)

(E)

G4Wrss seoeei tuwi -
Dr. S. pngn & méigemer
Dr. sréir 2 Ggeir

USmSem 2460l &G

N. sgpéeu Qg

(1) wpmwo (2) sMwrarsg
(3) L‘D'[DQJLB‘(‘{L) gflwmeng

eflen Qsfweldene

CCSE2E/2024 e 10

Elected Year

va

s

T
_—

(B) _(2) and (3) are cofrect

_ 1961
~ 1966
_ 1974

= 1977

(D) (1) and (4) are correct -

L

CarbOsOaslurL <
- 1961
— 1966

- 1974

S~ 1977

- (B) (2) whmd (3) sNwrang

D) (1) wpmis (4) sflwureng

A SHANKAR .
L IAS ACADEMY

-
¥ ]
SINCE 2004 Best Academy for Civil Services Exam Coaching
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11.

(1)

(i1)
(if1)
(iv)
(A)
(B)
©)
D)
(E)

Find out the incorrectly matcheq

Article 18— Abolition of Titles A
Article 21 —

Article 23 -
Article 20 —

Protection of life and personal libérty/

Protection against arrest '7L~
Right to free movement *’7&

(i11)) and (iv) are incorrectly matched
(i) and (i11) are incorrectly matched
(i) and (iv) are incorrectly matched
(i1) and (iv) are incorrectly matched

Answer not known

S SHANKAR
=% IAS ACADEMY"

mcsznm Best Academy for Civil Services Exam Coaching

EpEs@TLaupmIdT saupran @maew s Hs :

@)
(11)

(ii1)

(iv)

(4).

(B)

(©

(D)
(E)

sl eomuyl8 - UL Lhismer @uilss |

gl omuy 2l — 2ldieurpsd wHmd safl wafls szH8r5SDETa
UGBTI | |

sl oy 23 — @&3 Qaiwiu@euddmhbs LTgISTIY

FLL quq 20 - &g;;?;,{?llrmrrai BLLOT(HeUSHE T 2 flenwo

(iii) wpmd (V) seuprer @enamr
(.ii) Lﬁmgm (iii) seupmer Geam
(1) wpgb (1v) geupmer @ anent

‘(ﬁ) prbg)ub (iv) seuprer Genen

odlen_ G]grﬂu_lsﬂ@@@

11 ~ CCSE2E/2024
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12. Whlch of the Vedic Gods 1s descrlbed as the “Destroyer of cities”?
(A) Agni (B) Indra
(C) Rudra ' - (D) Vishnu

(E) Answer not known

‘Berrsoer ofluuei’ aary ahs Causd sl @iflwuiL@Homi?
N C(® @ssver
© wsves | D S

_ , ) SHANKAR
E)  dlo Gpfuciome ﬁ*; IAS ACADEMY"

;smcs_ nm Eest Academy for Civil Services Exam Coaching

13.  Which one of the following is not correct about Harappan culture?
(A) All Harappan sites are urban character

(B) The Harappan cities depended on villages for food and
labourers | '

(C) Harappan remains discovered even at small village sites
. (D) The most distinctive feature of Lothal is- dockyard
(E) Answer not known

Spsan_aupmiat apyiiun preflan upd seuprer snpm as)?
(&)  anguur prefssdad imanss) QLusEsd o7 prafsnd Carar_g
(B) anguun BETBIGET 2 ae&ETEH6LD, uwuﬂmnmﬁ&@é;s;n#sq& Symotisemer
ETibEBH55)
(C)  awguun prafsgden asstiser Afw fgnomseilgid oL sdamng
(D) Carssaer ApriLbaw EIMDAPSHLD 4&LD |
(B) e Opfucivma
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14. The Gupta emperors before Chandragupta IT 1ssued only
coins.

(A) Gold
(B) Silver
(C) Tin
(D) Copper
(E) Answer not known

@remmd  shSly @U-,EJUB&@ WHosWw  (GLIS  DETETTEET
preTwiismer L HGW Qeuafudl L ari. :

(A) smsbd
(B) Qeueraf
(C) s&mbd
D) Qewy ; A ACADEMY”

Best Academy for Civil Services Exam Coaching

(E) oo Asfuciodme

15. Haque-i-Sharb (or) Hasil-i-Sharb’ means - .
(A) Land Tax (B) Irrigation Tax
(C) Commercial Tax ' (D) Toll Tax

(E) Answer not known

QDT - @) -agMiTLl SOV anefléd-@)-agmiTLs ereLigem Qun@m

A) Ho e (B) giruunser el
- (C) aeflls aufl ‘ | D) s auf

(BE) ol Qpfweilirend

3 ’ 13 | CCSE2E/2024
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16.  Which of the following is correctly paired?

(i) Hematite Ore — Oxide of iron _

(1) Magnetite Ore — Black ore /

(111) Limonite —  Dolomite }g | /
(iv) Siderite —  Iron Carbonate |
(4> (i) only |
(B) (i) and (iii) only

(© @), i) and (v) only: .

A SHANKAR

=% IAS ACADEMY"

(D) (_iii) and (iv) Only . . SINCE - ) Bjm Academy for l:livil Services Exam l:na:l:ing

_ (E) Answer not known

AéraupauaTapBléd ereal sMLNE @méﬁs;a;'uﬁ;@quW?
) Q@m{.; g~ i 2s0
. (i) CuosemeLl s - SGUY S
(i) eCwrenesri_ 2 | GL_I:I'GDQDLDI'_
(iv) Aregr — @@y sriuGer
@) @ seoo
B) (i) wpmod (iii) we G
©) @), () wpmd (v) weEd
D) (i) oppis (v) we o

(E) oerr Qs fMwelerena
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ensification ' : .
17. D and compaction are unit operations that are used to

ncrease the densi . ) )
1 nsity of recovered materials to reduce transportation

costs and simplify storage. This method is used in

(A) Composting of dégradable waste in MSW

(By Transportation and Transfer station storage of MSW

- (C)  Construction of Landfill site for MSW

(D) Processing and the Reéovery of waste components from MSW

(E) Answer not known

DL TES) LD'.IDQJ-LD FHESD GTETLZ) Gune‘x@sur;rggj# Qsaysmans GDLILSHELD,
Crlllussamg araflsréGaus @D, AT Y- THTT QummL_safler
QLisHow PHefésl LuaTURD OEG GFudUTHSET WEGD. @ABS WD
Geeumd erhs papuid vweaTLREsULHSDS ? '

. ” | 5 | SIHANKAR
(A) MSW@wm wé@h GLOUGMET 2ToTsEESsd S IAS ACADEMY

(B) MSW@en Guré@arsg whmb uflorp Hemaw Calliy
(C) MSWssnar fleow Hliiytd setgden s Huomard
(D) MSWa\mia sifle) samsmenés @gymnéa@geb wHmD SO Bdse
(E) e Qsfweidame
e ' 15
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18. Recelntly in Dubai, cloud seeding technology is used to get artificial rajy,

|
g the following are &

The most commonly used seeding agents amon
(1) Silver iodide

(2) Dryice

(3) Sodium chloride

(4) Lead iodide _

(6) Ammonium sulphate

(A): (1), (2) and (3) only A SHANKAR |
B) (3), (4) and (5) only - wow IAS ACADEMY
(© (1), (3) and (5) only

D) (1), (3) and (4) only
.(E) Answer not known

Sjerarwuile, gumle Guos éﬂmgtﬁq G]‘E,IHBS]@QJL'-LJLE) Qewhens wenpenw Qup
LweTU(RHSSILLLg).

Yetreu (meuaTeubmeT TEnGU Qurgieurs  aflensLiy- (PSUTEETTS
- 2 uGurdlésnu@ssu@dearnar ? :

(1) Qeudrefl Cumen( |

(2) e of uafl I_ s | g
(3) (Se;mcbﬁ_u.b &Cermeny(H) |

(4) rw @IGU.II‘I‘GDI;@

5)  <wCwreflwb Fotui

A) (1), () wpgid (3) wLEWL
B) (3), (4) wpmd (5) L Eid
(C) (1), (3) wpmid (5) @b .
D) @), (3) wpmd> (4) LLEB
(E) ofen Qzfwefcrana

CCSE2E/2024 16 _ p O



Highlight


9. cTamll Nadu Day celebrated every year on
() Jume8 (B) June 18

(C) July8 (D) July 18
(E) Answer not known .

‘sADBHTG Sand’ @euQaum, QUL AP @GS ng@m Qarar_r_uubhSng
(A) g 8 (B) g9 18

©C gY9o8 (D) goeom 18
(E) oler Qsflueldene ' '

20. Which of the foliowing is correctly paired? -
(1) 2014 - ‘Target Olympic Podium Scheme/
(2) 2023 — Mera Yuvé Bharat (MY Bharat) /
(3) 1982 —  Sports Authority of India (SAD X

(4) 1984 — .Dronacharya Award was instituted R
(A)_ Only (3) is correct - (B) (1) and (2) are correct
(C) Only (4) is correct = «(D) (3) and (4) are correct .

(E) Answer not known

ﬁgfsasc&argm‘rj)ﬁlsb sRlwrs QUIBSSIULL @\ enemr sré,;mm?

1) 2014 — gabds CooL Qoses S Lib ﬁ%A/K"éﬁf‘S‘my
(2) 2023 — crang @enerw umysd (MY urys) amca2008 " Best Acdemyfor G Sarvices Exam Coaching
(3) 1982. —  @pSu feperu_® e (SAT)

4) 1984 — gGyremmssmALT @GS Hoeuriuc Lg

A) (3) wrEw &f | (B) (1) wpmb (2) &f

C) (4) wrEw &f (D) (3) womb (4) &

(E) aer Qsflweiicren

& | . . 17 | CCSE2E/2024
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h a lamp for two minutes, thep the

A current of 0.5 A passes throug the lamp 1s

number of electrons pass through
(A) 6.25 x 10'® electrons

(B) 6.023 x 10% electrons

(C) 1.6 x 107" electrons

(D). 3.8 x 10%° electrons

(E) Answer not known

0.5 A L&sarcsea{m'_u_m @aﬂ@m_aﬁlmés@ auflwrns Qo BlblLmser umidps
arafld, afersE eufiGuw Qe aé}r’rﬁe‘armgyésemﬂm craenflsams

A) 6.25 2,1018 TS TTET&SET

(B) 6.023 x 10% aravsmeincr ) SHANKAR

b IAS ACADEMY

(C) 1 - 6 x 1 0—19 GI'GUéE L.-UWGBTGS dT . ’ IME v Eest Academy for Civil Services Exam Coaching

(D) 3.8 x 10®° arasi grenser
(E) e QsNwelerene

ISRO prefer to launch Human space flight mission during
75 independence, the (crew member) explorer is named as.

(A) Astronaut - (B). Cosmonaut

(C)* Gagannaut (D) Ganganaut
(E) Answer not known

Baf TSR S sipingie G oo
Gloplanan@d & e-puta adiany ADWES LI HumiT?

i e (B) 5ndu@@ﬂﬁn&

(C) a;rr&;r.r‘r_r,nﬁ. ' (D) Eﬁmsn‘r_ﬁm-_

(E) e Qsflweidema
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93. Select the chronologica) order of mentor — student chain in the

estabhshment of sc1ent1ﬂc methods

.(A) Aristotle — Alexander — Socrates — Plato
(B) Plato — Socrates — Aristotle — Alexander
(C) Socrates — Plato —_Aristc;tle — Alexander

(D) Alexander — _Aristotle — Socratés — Plato

A SHANKAR
(E) Answer not known . 229 IAS ACADEMY"

F
SIMCEZINH Best Academy for Civil Services Exam Coaching

NGEHTar  epsmar ;ﬁlgu.mm‘é,]éo anfsniy - wrareuir srddlow

a;rrc;ueuﬂsug&tlnuq. CaiipEsh\é&sab

(A) efevLmiige — a@®$aﬂﬁiﬂ LT — EM&Jleen — lﬁ(?ml:_Gl_rr
(B) I_cl](SEﬁTl'_.GL_I'I‘ - &r.réilﬂl?—@f“‘— SiflevLmig.ed = é{@m@gnéquﬁ
(C) enspesn — GGam_GLT —'éfﬂdﬁ'—m'—'@@ - SCesemamLit
(D) &@m&&qsﬁﬁpﬁ — oflevLmiiged - Fnémeey — GGerGLm

(E) &9enr Qsflwciicoene

1y 19 R CCSE2E/2024
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24. A force of 1N acts on a body of mass 10 kg. As a res?llt’ t}?e body
covers 100 c¢m in 4 seconds moving along a Stralght line. Find the

Initial velocity of the body.
(A) 6ecml/s
(B)* 5cml/s
(C) 8cml/s
(D) 12 cml/s
(E) Answer not known

10 AGer eewerer g Qummefld 1IN eles Qewdu@dng. Qg6

ellewereuns @by Qummer 4 eflarmig sefled 100 Qs.8 CriCam_ig ‘r_w@m
eTalled DS DL Gsuaag,wg,as aaasm_,r_ﬁ]u_lmm

(A) 6 Qs.8/c0amy
B) 5 G]E;Lﬁlaﬁlanrrlq.l

WD 8 Cebleens; B SHANKAR
D) 12 Gebefamy 225 IAS ACADEMY"

(E) oo Qsfwefcvenad

25. Green light shmes on a rose ﬂower Then the colour of its petals seems

tobe .
(A) Green | (B). Pink
(Cy Black ’ D) Red

| (E) Answer not known
2@ Crngr Apiuad Lims gofl galiclsdng. <G i Aebaald
Blowres Carenmeus , B guiielssngl. Sl eLng. v @ppseiiar
A)  vsaws | (B) Qauefirflauciyy
© sooy D) S
(E) oo QsAweldrena
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96. The Neyveli Lignite

217.

Government of Indig iy, thg(;repaorration was established by the
(A) 1956

(C) 1980

(E) Answer not known

(B) 1972
(D) 1959

HpeuiulLg)? UGragen fmeuard @pHu  @igered  auGurg
(A) .1956 ®) 1972
() 1980 (D) 1959

(E) ofev QsNwedrana

Arrange the following universities in chronological order based on
the year of establishment :

(1) Manonmaniam Sundaranar University
(2) Bharathidasan University

A SHANKAR .
£2% IAS ACADEMY

(3) Thiruvalluvar University

(4) Periyar University - Best Academyfor G Srice Exam Coching
A» (2), 4), (1), (3) (B) @), (1), @), 3)
© @), ®2),#, 3 D) (1), 3), 4), (2)

(E) Answer not known

ﬁls&reu@m LOSMDEFGEEDET Si@a Bl L. a6 sroaflesiiuig
RPRIGHDESE|LD :

(1) wCamernoerilwb &pbg,r;r&rrr‘r UDEDVEHDEID

() 'urrljélg,rrésin LS VESPED

B)  HmaudtEsai LOGDEEPSLD

(4) Quflurit uDEsMMESPSD

@ @), ®, 1,3 - B @m0

© (1), @, ®, - O @3, @, @

(E) ofen QsMweiidvare | ‘o

21 CCSE2E/2024
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28. Assertion [A] : Backward class commission under chalrrflansh?p
' of B.P. Mandal was appointed by the Premdgnt in
exercise of the powers confessed by Article 240.

‘Reason [R] : The commission has developed eleven indicators

to determine backwardness.

(A) [A] is true but [R] is false

(B), Both [A] and [R] are true; and [R] is the correct explanation
O of[A] | -

(C) [A] is false, [R] is true
(D) Both [A] and [R] are true; but [R] is not the correct explanation
of [A] '

(E) Answer not knovﬁn S8 SHANKAIR

=5 IAS ACADEMY"

F
SINCE 2004 Eest Academy for Civil Services Exam Coaching

‘B%L,I'_f}QJ' [A]  :  eli09fley 2406 eped satEE  UPRISLILLL
flampsdenuy  gamdusd  B.P. wewld  erarucueny
GHLESEIULL  UGUARIHESTRT U@ERTLS SODUITS

- Budgsmir. .

- smpand [R] @ Qévereamun Gasmdu Hawemwu &morafllés L Qe
Ghsn_yamer 2 (Heursderens.

A) [A] Elﬁturrawg] e [R] seuprang
(B) [A]'m,r_i)gub [R] @renmio &rﬂu_lrrsur@; Guaub [R] g [Aledpsrar

sflwren efenéasn
(C) [A] sauprans; [R] Filureang -
(D) [A] whmb [R] @Uﬁﬁ@fﬁ ‘EIﬂUJITGUTgl;

LETITED i
&rﬂmrrc_;;r eleT&aLd - dhey <d [R] R IR= | _[A]sﬁ]_ma;rrsm

(E) el Qsflucdama
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99. Match the following .

(a) Non-Brahmin Movement Jyothi Rao Phule

1

(b) Self-Respect Movement 9. E.V. Ramasamy

(¢ Shuddhi Movement 3. Dayananda Saraswathi
4

- (d) Sathya Shodhak Samaj Movement Sri Sahu Maharaj

@ ® © @

A2 1 4 3
®1 4 2 3

| A SHANKAR
o, BT a s -d =5 IAS ACADEMY
™1 2 3 4

(E) Answer not known

EéaemLeuhenmLl G]urr@gga ;

(a) anmmqmmcg,nr’r @uésd 1. Ggrélgres yGe

(b) swoAwrms @uEsD © 2. m.Qau. gmosms

© ovosd @uéssd 3. purmenps srevad

(d) ssw Gengns swrY Quissid 4. B en warmy
@ ®» © @

A 2 1 - 4 3

B 1 4 2 3

©2 3 4 1

D) 1 2 3 4

(E) oL Qfudidame

& - - 23 ' CCSE2E/2024
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ents 11
30. Arrange the following eV £ Justice Party

(1) He became the president O

Eg Ee Jb";::if ;?engcfjnt of Tamil Nadu Congress Committee
X raha

(4) He organised Vaikom Satyag

A) (2{)3 (4), (3), (1)- | B) @), D), (3) (2)

EC; ' (2)’ (3)’ (4)’ (1) @) 3), M), 4, 2)"

(E) Answer not known

.Qeu.gm. upD s euflepstiliie Aerai®Lo ﬁﬁ@mgmm PQREDDEZAUD.

(1) e 586 s Aular saeell ST

(2) i srdyedle CarpemT
B) e QLIS]QEBIT@I sriiden sl igudler SEQGUIT %@TITIT

(4)  @aussd &gﬁun@u&m geusfenmi
€ 2,03),®,Q1 D) (3), (1), (4), (2)
(E) e Gzflueidama '

31. “Vaanalum Selvamum Mannarasum Yaan Venden”
[I don’t want rule the sky, wealth and monarch]
Who said these words?

(A) Ramalinga Adigalar (B) Sundarar

(C) Nammalvar . & a (D) Kulasekharar
(E) Answer not known '

“aunmarm@pd ClEdaigpn araysn wretGouamGLer” — eramm Lmgwef.
A) @rmodits iy sermi
(C) pibwmpeurmit

() oS Osfuciavme

B). &HG T
D) @Cssyir

B SHANKAR
225 IAS ACADEMY”

Best Academy for Civil Services Exam Coaching
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Match correctly t
32. Y the Newspapers associated with its Founders :

(a) Richard Jolm;,ton — . Madras Courier

(b) G.P. Pillai w Madras Mail
(¢) Charles Lawson and H snry Cornish 8. Madras Standard

(d) G. Subramania Tyer

————— 4. The Hindu
@ O © @

A). 1 3 ) |

B) 1 2. 38

(C) 2 3 4

D 3 2 1

(E) Answer not known

B A

@'E;WDQ]G)S]‘%‘E)QJFT‘&S@L_GBT QgrifyeLw Qsudssreer sfwuns @un@ggmm :

(a) Méer(® grengenr 1. ng,r]rréiu gafwim
(b) G.P. Qérener © 2. wgymev Quufe
(c) enfiev @rger LOYD 3. wsrTeL evLmerL i)

Qametrfl smirerfle
(d) G. sogwerilw gui 4. 8 ablpg

@ ® @©© @

S-SHANKAR

w1 3 2 4 £25 IAS ACADEMY"
B 1 2 -3 4
@2 4 4 1
™3 2 1 4

(E) olan Qzfweicrened

A

% 25 CCSE2E/2024
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33.  “Number four and two are strengthening Y _
- Number ‘two’ refers to what? ® Thiralleural o
A - : :
E c; ;iogzldbiyar (D) Aathisoodi
(E) Answer not known ' Q Y }@ ry
9 . eV T
“srgd @ran@o Qerogisend T U i) T 5
CLEEE R e
@) wipbnng (B)." d@senat
(C)- BTEL g Wi (D) <2 ’Qg]g@lq'
(E) oo Qsfweiicrene
34. According to Valluvar, which will be consideredl With Ulmost
gratitude? ' o
- (A) As Bamboo as Benefit ' (B) As Millet as Benefit
(C) As Sea as Benefit (D) As Mount as Benefit
(E) Answer not known
Ta@an ‘Uamanuara| hetdwunss Qamereu erar euet@heul GHILIEG S
A) wprdéd sere) Hand (B). Hanan yarey meng)
(C) sL& jatey Har (D) veo jerey Her
(E) oler Qsfweldene
35. “Kallaarai Kaanungal Kalvi Nalga
IKasadarukku thookkumaram angae undaam”-
Who wrote these lines?
(A) Bharathidasan (B) Kannathasan
(C) Vannathasan = (D) Vaanithasan
(E) Answer not known
“a;susurrsu)crﬁ SETERISTED HD6l 15@5;;3;
esm_rr&@g SN&GWIL ks S G TD” —
| @5336’9@5 @J'ﬂﬁ@ﬁ@ 2 Nweuir wirir o
(A) urrr,:r;ﬁgrr&etr. B) saremgmsss
(C) G}JWW‘Q}H’GW . (D) G]J[]’ﬂ‘b’ﬂs_};[ra:sh‘]‘
(E) oflen_ Qsfluediens
CCSE2E/2024 26 @@ SHANKAR 0

o=% IAS ACADEMY"
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~ The Pakistan r )
36 resolution wag passed by the All India Muslim League

at its Lahore Session op
(A) March 5th, 1933
(B) August 5th, 1933
@) Mareh 234, 1940

(D) March 220d 1941

(E) Ansﬁver not known

. gdle @gbref,lu_; pevaStd 655 undevgrer STTaTS®S @TFT I;Drr‘[}';HI'_Lq.G'D_
euQumrps HernGoupBluig ? |

(A) - wri 5,1933

(B) <ysevr 5, 1933

5 | SHANKAR

(C) wmis 23, 1940 2= IAS ACADEMY"

D) s 22, 1941

(E) den Gg,ﬁlueﬂ@@w '

ST | 27 - CCSEZ2E/2024
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37.

38.

If ABCDE = P1Q2R3S4T5 then which one of the follOiving 1s equal.

to Q2BFVT7A.
(A) BQ2V7GP1
(C) BQ2VTEP1

(E) Answer not known

(B). BQ2UGEP1
(@) BQ2U6GP1

ABCDE = P1Q2R3S4T5 aan Gpere demaigaamaspper Q2BIVIA
GTETUSM(G FLOOTETS 6THI? :

(A) BQ2V7GP1 | (B) BQ2UGEP1
(C) BQ2V7EP1 (D) BQ2U6GP1

(E) oL Gsfwelcrenay

Gopi sold a laptop ‘at 12% gain. If it had been sold for Rs. 1,200

" more, the gain would have been 20%. Find the cost- price of the

laptop.

(A) Rs. 15,000
(B) Rs. 16,000
(C) Rs. 14,000
(D) Rs. 15,5600

(E) Answer not known -

Cesmd & ILqu.E'BGQGUUﬂGDﬂG?DUJ 12% @surr'ugﬁg')@ Gﬁ]g’)‘mrr.fr. Cogib 5
@ 1,200-66¢ e@sors dpfepbsrd @Qomun 20% s @@mboGEED-

wigssaiafluiler i és elmamus srars.

A). . 15,000

(B) . 16,000

(C) e 14,000

(D) @ 15,500 ) SHANKAR

(E) e Qsflweldena ‘**"IAE{'\WE/.'}PE%\!’
CCSE2E/2024 - 8=, e,
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3. What is 20% of 309 In 5009

40.

41,

o © 10
(D) 100

- (E) Answer not known '

500 @er 30% wh9e 20/u GTeia 2 |

@ 30 (B) 150 ;

© 75 - (B, 100

(E) e Qsfwelcrena

Find the missing number in the series.
4,18, ?, 100, 180, 294, 448

(A)- 48 - . (B 50
(C) 58 | (D) 60
(E) Answer not known

Qsr@ssuul L QarLMelmbg UL armans sreams.
4,18, ?, 100, 180, 294, 448

(A) 48 = - (B) 80

(C) 58 - (D) 60

(E) oMo Qgfwelerenaw

5- SHANKAR .
%5 IAS ACADEMY

Best Academy for Civil Services Exam Coaching

The sﬁm of first n natural numbers is 253, then find the value of n.
A 22 s (B) 18

© 24 : (D) 16

(E) Answer not known

Ws® n Qe eramseflen s Had 263 aranfled, - @GUT LI STews.

Aa) 22 (B) 18

(C) 24 D) 186 |

(E) e Qswefdvene

29 CCSE2E/2024
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42. If fox=cat then xerox may be equal to

(A) terct

(B) tcroa

(C) terot

(]j) terat

(E) Answer not known

: o E s 2
fox=cat eraflé xerox ererugl GTHEMNEN GD&GD

(A) terct
®) teroa - @ SHANKAR .
(C) tcrot . ' P2 N IABSﬂﬁEéPEMY
(D) terat

(E) aﬁléu_v@g,rﬂ weddena

43. Three dice thrown at once. Find the probability of getting same
numbers in all dice

1

AI - : : ' 1 .5

% ' | B 26
1 ; : -

L S o

(E) Answer not known

eLp GOTM) UG L_&aT RIS 2

L R T i - 2 Gq
arain Sleniée Hapssey ererens SH00Guny simarsg LsoLdgid §

1
(A) = | . 1 -
? | ®) 216
©) — 1
36 (p) >

(E) &fen Q5 Mwieflerene,

CCSE2E/2024
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4.

The cgrve:d Surface_: area of a right circular cylinder of height 7 cm is. -
66 cm?. Find the diameter of the cylinder.

A) 2 cm |

(B) 4cm '

(C) 6em

(D) 3cm

(E) Answer not known .

66 &.Q8.10 euameTuTLIL@LW & Gp&mLL o (menerudler o wiyb 7 Q&5 erafle,
a_@@mufﬂsh LD &ITeis. _ ¥ g i ?

(A) 2 Q&.15 '

B) 4 Qs ) SHANKAR
o 2% IAS ACADEMY
®) 3 Qs J

(E) ofenL Gg)ﬁ]meﬁlebému

45. The value of a motor cycle 2 years ago was Rs. 80,000. It depreciates

at the rate of 4% p.a. in first year. In second year it increases by
4% p.a. Find the present value.

(A) Rs. 76,800

(B) Rs. 80,000

(C) Rs. 80,128

(P) Rs. 79,872

(E) Answer not known

Qe ss5y qsad genflar @ BT BEOSEHE wer . 80,000.
W5 @y eraH@ 4% GOPADS. QreLmd oye® 4% ofsfsdps)
el g sHGUTMSW cSane erebTe ? ;

(A) em. 76,800

- (B) em. 80,000

(C) em. 80,128
D) . 79,872
(E) eler QsAwedrena

31 "y, . CCSE2E/2024
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46. There are four cell phones in a house. At 5 at.m, all the 2fo?lr 'phones 3
will ring together. Thereafter; the first one ot s e, tfhe
second one rings every 30 mins, the. third ope rings BVERy 40 ming
and the fourth one rings every 50 mins. At what time, will the foy,

 cell phones ring together again?

&) 1PM. -

fa * LA B SHANKAR |
- £ A ACADEMY |
D) 3AM.

(E) Answer not known

@ eiliged BIeNS - anCublee o dTeTar. ST 5 wealléeE, adan
SimaGuilsab gaprs asEh. b WsD sioaGuilureng Qe
20 AL rmsafllgid, Gremreag satudl gatarnm 30 Hillhsaigi,
epeprelg eaGuél geubeaum(m 40 AL mseflgb, HreatsTaug) maGud
ga@aunmp 50 Al msealgid @alssamar aafld, siemeu BeTHb erlGung
RETONS PI&EGLD ? _

(A) Ypuse 1 wenfl
B) wiusd.1 wenfl
- (C) Qpusd 3 wenf
D) wousd 3 wexfl
(E) e Qsflueldens

47. If HCF of x3 —8y® and x? —-kzy_z is x + ky then value of k
| (A) 2or-2 ' B) +2

@) = @) 0
(_E) Answer not known

%3 -9 i %GB Y ; ’ : .
ol Fy" ar B00uE Qurg aigsd x+ky aaflo kd
(A) 2 soag -2 B) +2

€. -2 | M) 0

(E) eSlen Gsfwelldanay

CCSE2E/2024 39 | . 0
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48.

49.

20.

In how many months the principal of Rs. 2,000 will double at 8% per
annum in simple interest?

(A) 144 months ' (By 150 months

(C) 120 months (D) 140 months
(E) Answer not known :

safl il PODL s . 2 000 8% al_igeisgdled @TiigliuTs erelaiemay
OIHD AGD?

(A) 144 wrsmser | (B) 150 wrsmiser
(C) 120 wrgtiser ' (D) 140 wrsiser
(E) e Qsflwefdara -

| < SI-IANI(AR
The L.C.M. of 3, 2.7 and 0.09is =% IAS ACADEMY"

SIMCEZD(M Best Academy for Civil Services Exam Coaching

A 2.7 . (B) 0.27

€ 0.027 | O BHANKAR
(E) Answer not known R |AS ACADEMY

3, 2.7 wpmib 0.09 e 5.8.0 -
@A) 2.7 e (B) 0.27
(C) 0.027 - D27

(E) o&fen Gg,rﬂusﬁlsumsu

Which one of the following lies between \/_ 7 and «J_ ?

*(A) 2 - - (B) V3

©) V& . D 5

(E) Answer not known

Epsanamueumbed erg) ﬁ LD,ng]H-D 1/— @Wmﬁ.ﬂ)@ @ml_u_‘ﬂeu SiWU|b?
A) 2 o (B) /3

(C) 4 | | (D) 5

(E) &feni Qg Mwallcrenev

33 . CCSE2E/2024
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51. Arrange the following Books of J awaharlal Nehru ip Chrbnologic.dl

order considering their year of publication.

ey
(2)
3
)

@

(B)

(©) .
D)

(E)

An Autobiography : Toward Freedom
Glimpses of world History
The Discovery of India

Before Freedom

5 | SIHANIKAIR

(4), (3), (2), (1) |
= 228 IAS ACADEMY’
(2), (].), (3), (4) : SINCE2 : Best Academy for Civil Services Exam Coaching

(), (3), (4), (1)
(2), 4, 3), (1)

Answer not known

geuaniere  Crmedear — Erdsmer smar  Qeuafll i L
SjigtueaL e sroaufosiupsss :

(1)
(2)
3)
(4)
(A)
(B)
(©)
D)
(E)

@ff swsilos : {"f%ﬁmb Coéd)
o @8 QI @f Limieey
BpHureicr sein (.1
&ﬁlﬁﬁffgﬁ@@ apenr

@, (), ), (1)

(2), (), 3), (4)

2), (3), (4), (1)

(2, @), (3), (1)

e @g,rﬂu_jgﬁ]@mm

COSEZER0Z . 34

<2, @iTlg 6 |



Highlight


52.

Who among the following had started ‘Mitra Mela’ Association?
(A) Shyamji Krishna Varma

(B) Vinayak Damodar Savarkar
(C) Lala Hardayal

(D) Sohan Singh Bakna.

(E) Answer not known

Gemeuheuareupbley ‘@QIIT Guerr’ FRGGMmG QGmnidlweuir wmr?

(A cgwmbg) Hmeiyerr quirom

B) prws srGonsi sreuisst |

(C) oreor anigwrer
'5- SHANKAR

e IAS ACADEMY"
(E) QS]GDI_ @ﬁfﬂu_l@ﬂﬁbma) ; ‘ ""““"“" .B '-* jimvfn r Civil Services Exam Coaching

(D) Gemaner A Lsam

Who founded the All-India Muslim League in 19062

(A) Muhammad Ah Jinnah

(B) Khwaja Salimullah -

(C) Sir AgaKhan i | |
(D) AXK.TFaizul Haq . | gglﬁjlggf\?\;‘a\;\,ﬁsg Lonueng]? {heK ?g\lﬁgers
(E) Answer not known ¢ s :
sasdiHu wpeveld 686 s slaw 1906—6"0 Bmefwg wmi?

(A)  wswg =6 Herarm | I

(B) seungr sedpder

(®)) | &1 Q& &Meom

D) o.Cs. wusd ansé

(E) &l Qzfweidene

i CCSE2E/2024
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Sir Aga Khan was a founder. Khwaja Salimullah was also one of the founders
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54.

Assertion [A] : Swami Vivekananda foundfad Ramakrishna

Mission to popularise the teachings of his mastey.

Reason [R] : Ramakrishna Mission was a monastic order apg

devoted itself to the spiritual development of May

(A) [A] is true, [R] is false

(B) Both [A] and [R] are true and [R] is the correct explanatio
of [A] |

(C) [Alis false, [R] is true |

(D) Both [A] and [R] are true, but [R] is not the correct explanatiop

of [A]

A SHANKAR
SIIAS ACADEMY"

F
SINCE 2 nm Best Acade myfn r Civil Services Exam Coaching

(E) Answer not known

spm [A] - 1 saurd  dCasramst seig @ meian Gungenarsear
- uUuu.@rjnmé]@qu,wrr Blagemer Hlmefemmir.

smpemrd [R] @ @gmod(meivemrm L&G]%:G'GT @@ gjmeug) Qmmuq LHMD Sig
meuﬂg,saﬂsm anbe eueriEdé s, senenan Sifuani&sg).

(A) [A] &, [R] sau

(B) [A] wpmd [R] &, [R] [AlWeyenw sl aﬁlmaa;m

©) [A]l saup, [R] &

(D) [A] wiogid [R] & <ame [R], [AlQeyen sflwrer eﬁ]me’s&mﬁb@

(E) elen QzMwehcranay

CCSE2E/2024 .
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55. Arrange the following studies of Poverty in India in chronological
order :

(1) Ojha’s study
(2) Bardhan’s study
(3) Minhas study

(4) Dandekar and Rath study

@ @, @, 1,6
) SHANKAR

B) (1), (4), (3), 2
_ 4 w---_--&i IAS ACADEMY
(C) (3), (2), (1)’ (4) i | 2 SINCE 2 Best Academy for Civil Services Exam Coaching

2), (1 4 -
D) @), 1), (3), ® SHANI(AR
(E) Answer not known - -'-*-5 IAS ACADEMY"

Best Academy for Civil Services Exam Coaching

@ndwmredle ;,)JQJGG)LD upBlw IS]G_BTG}J@LD iesamer  sroauflensLig
R(PESHWLESAD : '

1) ogr i

(2) ufgmer ey

(3) Weranmev <2 uie]

(4) sarGLsT LHHID TTS c‘%b"'@
@ @, @, ), ) |
*B) (1), @), (3), @)

€ 3,3, 1), 4

D) @), (1), 3), @

(E) &%en G5 Mweilerena

3 | | 37 CCSE2E/2024
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56. Inorder to double the Farmer’s income through digital techrl()l_og'ies,

action should be taken from

(i) Technology generation and dissemination, policies and reforp,

and development initiativqs
(11) Policies and Reforms
(111) Reforms and Development

(iv) Artificial Intelligence -

(A) @) only | ' *(B) () and (iv) .
(C) (i) and (i) | (D) (iv) only
(E) Answer not known '

el L Qsmfedn ukiser apob edeusrdasefer aumLIaTEms @7 g liunss
T®&s Caugimig BL_GUlq &6

()  Q@srfomru o maurssn LOYID  ugeuew, CsraTenssedr < WLHND
Efd)(mSshise LD,r_f)guLb ouen&s) oargdaar

(11) GameTanga@pLd, §r‘rg‘,](r5§,‘5_r,m.g;@m.

(i11) S8 msshis@EsLD, GerGarhmapid

A SHANKAR
225 IAS ACADEMY”

. (lv) qu-jmma @@TW@G}J&) . ;smcu Eest Academy for Civil Services Exam Coaching

Q) @) vrew
(C) (1) wpmw (iii)

(B) () wpgw (iv)

D) (v) v @
(E) eflor Qsflucicame

CCSE2E/2024 R, | {1
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57.

Match the following :

(a) Tax Revenue 1.
(b) Non-tax revenue 2.

(c) Capital receipts . 3.

@ ® (o
A3 1 2
B 1 2 3
(C) 2 1 3
D) 3 2 1

(E) Answer not known

élehm(gmmeﬁﬁ)mg) CQummE8s :
(@) " euf aJ@Gﬁrru'J 1.

(b) eurf gs'usurrg, au(peumy 2.

(©) epasgear fég&aT 8.
@ () (o)
(A 3 (f

) 2 1
D) 3 2
(E) elen QsMweldencw

2

® 1 2 3
2
1

Interest receipts
Net market borrowings

Taxes on Income and Expenditure.

) SHANKAR
#4 /AS ACADEMY

=
ey
SINCE 2004 Best Academy for Civil Services Exam Coaching

')

el 1&g
Hlay shos sLeTs6T

aupLTeT wHmib Qewey Wsrear cuflger

39 CCSE2E/2024
[Turn over


Highlight


58.  Match the following :

Enacted Year
(a) 1963 1

Name of the Act
prevention of Insults to National
. Honour Act
. Representation of People Act -

(b) 1991
- (¢) 1971
(d) 1951

: " Government of Union Territory Act

Government of National Capital
Territory of Delh1 Act

@ ® @© @
(A). 3 4 s VS
®1 2 3 4

1
3

A SHANKAR -,
225 IAS ACADEMY

Best Academy for Civil Services Exam Coaching

© 4 3 2
™2 1 4
(E) Answer not known

SpssaTLaubH@P QuTmsss :

Quppriu L &) _ sl gdlenm Quuir

(a) 1963 1. prtigen QumenLo amm@&&uu@m@gﬁ
. - gL Qe & Lib

(b) 1‘99.1_ wéaar WHHdssieus s Lid

(¢ 1971 Qbdu gendluc LEHs s Lib

(d) 1951

Csélwg smapst QL el LGHé

_ &LLb
@ ® © ()
A 3 4 - 1
B 1 2 3
€ 4 3. 2
M 2 "1 4
(E) elaL Osfusinme

Lo~ BN
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59. Assertion [A] : Governor in the Indian Federal System 1s

assigned dual role, as the constitutional Head of

‘al\-lsAANé( /f\DREMYm the State as well as the r_epresentative of the

SINCE 2004 Best Academy for Civil Services Exam Coaching

Centre:

(N oSiBANK ATRe Office of Governor is against the Federal
224 IAS ACADEMY
SINCE 2004 Best Academy for Civil Se L.H%ul e.

(A) [A]is true, but [R] is false

(B) Both [A] and [R] are true, and [R] is the correct explanation
of [A] |

(C) [A] is false, [R] is true

(D) Both [A] and [R] are true, but [R] is not the correct explanation
of [A] :
(E) Answer not known

apm [A] 1 @pHu sl Lm A, p@pnh, Sirflar gmeaul WHHID
wsdw rfler Grdbld erengnd @b eMgwmen uesflaaner
Qe pm. | :

smgand [R] ;. <p@smi aarp AneaGo sl r 8és adyrears)

(A sapn [A] &R, @yeme smyamd [R] sam
. (B) sapm [A] wpmid smyewid [R] &fl, Gugib smpm [A]é;&rr@ gflwime
Mersawons sryenrd [R] e-drerg
(C) sy [A] saum, smyeord [R] &
(D) enpm [A] wpmid sryenTd [R] @ram@wn &, a.__bcﬁrrrsb gapm [Alssrar
sflwurer efaréswna smyand [R] @ome

(E) el QsNweldrena

3 | - . 41 '~ CCSE2E/2024
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60. | The framers of the Con

stitution incorporated the dutieg of the g
; atg

of the

in the constitution in the form

(A) Fundamental Duties

(B) TFundamental Rights -

-

(C)e Directive principle of state policy.

(D) Rights of Citizen ‘, SIHANKAR

- #%% IAS ACADEMY"

F
SINCE 2004 Eest Academy for Civil Services Exam Coaching

| (E) Answer not known

éqqé]ysucmmumu aqr,eurré;a‘shﬁmr‘ra;eﬁ SUTAT SL SIS ST ueenids
855 asausdo Goissan.

(A) é,l{lq_l_'ll_lml-__ ELNLD&ET

(B) SHguuen 2 fenwsgr

(©)  <@indlen UPsT Qi Qﬁ.ﬂ@@m&m

D) B4 L066 (@ é6 T 2 Maning gy
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61. Which' of the following bodies doesn’t/don’t find mention in the
Constitution? |

(1) National Developmenf Council
(2) NITI Aayog ~
(3) Election Commission-

(4) Finance Commission”

). (1) and () only . ® @oly

(C) (1) and (4) only, D) (1), (2) and (3) only
(E) Answer not known ' ‘

g@‘%@‘— SAidbUyselld  ameu/raausaT  SflweeLlLE LSS
srenTlIULadlevenay ? - . ; :

(1) Csflw euerisfs ‘@5@'
(2) £ <Cuns

(3) GCaiged <peanid
(4) ) yearmwibd

A) (1) wppid (2) LW (B) (2) vrew

©) (1) wpmid (4) wiEud D) ), ©@) wbpo (3) vLEd
(E) oo Qsfweloma -

) SHANKAR
)% IAS ACADEMY

-
1
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62. Who among the following is the only woman historian to have
written a historical account of Mughal period?

(A) Gulbadan Begum (B) Zeenat-un-Nisa Begum
(C) Jahanara Begum (D) Zeb-un-Nissa Begum
(E) Answer not known

(A) Gouger Guad (B)- %]mﬂg—s_sh-ﬁsrr Guslb
(C) ssemmyr Gusw (D) Qgﬂ—&e&r—ﬁ]&n Guslb

(E) Qe Qs fweilerenaw |

{3 43 | | CCSE2E/2024
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63.

64.

(D) He

Which one of the following 1% false with regard to the rejg,

Ahmad Shah? |
pital from Gulbarga to Bidar (1425)

(A) He transferred his ¢

cen the Dakshin party and fore1gn Party

7 £ T b tW
(B) The rivalary be€ -

became accentmted during

(C)+ He conquer ed Warrangal in 1424-25

annexed the kingdom of Gujarat to his Empire

(E) Answer not known

oi50g agredlen gy Sude &G GO LaupBled eT8 SeupTeng) ?

(A) soaps®T @ebur‘réi&;ﬁ@ﬂeﬁ]@ﬁgj S wrhbleri (1425)

(B) e staosdd L&ser Gualpen Oaelpri(s  Guases
Qe erear GOTSED upd CusliuL(® uUbSS!

(C) 1424-251b <pariqed GUTTHEISE ETETD @L.LD maauu,f_i)'r_r)-uuu_g
(D)  GaIms siges ser GuTsar Qaansgié Camarmi

(E) o9eni @g,rﬂméﬁ]cﬁmm

Who called India as “Ethnological Museum”?

(A) R.C.Majumdar (B) R.K. Mookerji
(C) H.Risley - (D) V.A. Smith

(E) Answer not known

GpHwur o ‘L?"'“ﬂf—;’ GVEElen SymriET _ALsD eTar Depssauit Wi ?

) A gt (B) u.Gs. apsirsd

() Qgos. flovch - (D) f.g. ol
(E) oo Gsfwelcrana, '

A SHANKAR
2% IAS ACADEMY" ¥
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65. Which of the following Harappan sites are not in India? .

(A) Mohenjodara and Harappa (B) Lothal and Kalibangan

(C) Bhanwali and Ropar ‘ (D) Surkotada and Dholavira
(E) Answer not known

EPEETLQIDDIGT The epIULT prafes SeThEET sH@ums @hdHwuneiled
@Qome?

«(A) @wﬁ&@&,&:n@un womb engrur  (B) Congsd wpmib srelumkiger

(C) uvereured wHYID eHLMT | - (D) &iGammm whmb Caremellym
(E) &lev Qsfluefdene ' '

66. Around 25 districts in the east coast; 10 in Tamil Nadu,
7 in Andhra Pradesh, 6 in Odisha and 2 in West Bengal - are
vulnerable to cyclonic storms. Among these, which area accounts to
70 percent of the cyclones of severe categories? |

(A) Chilika region
(B) Nellore region

(C) Machillipatinam
(D) Sundarbans Area
(E) Answer not known

) SHANKAR
=5 IAS ACADEMY

-
ey
SINCE 2004 Best Academy for Civil Services Exam Coaching

Spses sLpsmq somi 25 wral ks sblpprigd 10, oybdrreie 7,
gusreley 6, wpmb CoHE amssded 2 - Goraell HudserTed
LTS &6 &1 LGE. Qaupdledd, aHsl UGHUTETs SHOLWIRT EUMEL
Luoseild 70 speis LTHUMU HAMLLID?

‘(A) Adler uEd

(B) Apdgnit UGS

(C) w&EOAGLLIgemD

(D) sabsreuaiuEs

(E) éler QsNwefdena

3 - | 45 CCSE2E/2024
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67. A tribe of India is

(1
(2)

3)

(4)

Connected with Eklavya in the ‘epic Mahabharatbg

Lives in Aravallis, Vindhyan and Satpura Ranges
Hutment on a small Hillock

Maize is their Staple food

Which tribal group of the following suits for the above conditions?

(A)
B)

©

(D)
(E)

Gonds

Todas

Bh'l _ '5 - SHANI(AR
Santhals

Answer not known

SpssTad smpmsErsE@iu @bswreder em LGy e g ?

1)
(2)
(3)

(4)

(4)
(B)
- ©
(D)
)

CCSE2E/2024

LETUTTES QElens ssmiuTsd b S &ENEVGLEY)|L_GiT @g;ﬂL.ffL]@')LUJQJfF&SGﬁ
< reudal, aflbEw wHmid E5LTT W@ G\g,rn_rra;stﬂsu QUMD LIGUTEET
Slw @sirrgumﬂsu G4DF MDEHH

LD&ETE Ganm(ﬁm Mysrar 2 _awrey

Garam@ser -

Cariiraer

Yleven

EMH& V&6

QenL Qzfweldena
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68.

69.

The northern upland of the Karnataka Plateau is known as
(A) Malnad

(B) Betwa

(C) Dhasan

(D) Maidan

(E) Answer not known

) SHANKAR
=% IAS ACADEMY”

smcum«l Best Academy for Civil Services Exam Coaching

A SHANKAR '

SHTL& Sryller  eu L_as@,, nl m&%ﬁpﬁﬂy erem
S@WP&EUILRE DS ' i

(A) LT BT(H

(B) ¢« Quieur

(C) sngen

(D) evwimer
(E) e QsfNwefevene

Which Ministry launched the Digital Intelhgence P]atform (DIP)
and ‘Chakshu’ facility on Sanchar Saathi portal?

(A) Ministry of Power

(B). Ministry of Civil Aviation

(C) Ministry of .Communications and Information

(D) Ministry of Earth Sciences

(E) Answer not known

GTJ_BQ’; SIMDEFHD FEHETT FTSS) GumiLafléd 1qei L e @mmﬂm SEmd HmILb
‘srHage ausdaw G]g,rruma’;]u_@? ‘

(A)  Ber SemwsesHD

(B) . flafiev efivmar CGuéEeuTsS! D EOLDEFELD

(9) s&eud Gy SINLDEEELD

D) yel oflefwicr Semp&aad

(E)  ofleni Qs Mweilerenew

47 . ' CCSE2E/2024
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70. Match the following :
Part I
(a) India—

(b) Japan
(c) United States

(d) China

Codes :

@ @ @ @
(A 5 2 3
(B) 2 1 4

(C)e 2 4 1
(B):- 5 * 8 |

(E) Answer not known -

DD W Ot

Yereu(meuameuhenm QUMHSSIS :

ugd I
(a) @bdwur
(b) SoLILITEHT
() <=QuissT
(d) &em

GHSOser :

@ O © @
@ 5 2 3
B 2 1 4
© 2 4 1
™5 3 1
(B) oo Opfuciame

b o Oov i~

48

LTI JCR R

Part 11
Bald Eagle
Doiphin |
Peony
Cherry blossom
Royal Bengal Tiger

S-SHANKAR .
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ugd 11
U(PEMG &G
Lmev1Yleor
9 Cwirer

Q&_r‘rrﬂ LTES
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. T1.

}\3

(E) eler Qsflusideme

Who had been given the “Shilp Awards” by the Ministry of Textiles
and Industry?

(A) to legendary dram.a artists

(B) torural women entrepreneurs

(C) to legendary farmers

(D)* to legendary crafts person

(E) Answer not known

oajell  wHmIL  Asmblaogiemn .@;@).Loéaca;_‘e_'r,grrei) Ao dlmgIsEeT  WT(BHES
GULPMBIGLILY K&mg) 2

(A) -{_Iesgg@u,n‘)g) BTL&& & EHTEEhHES

(B) é&lgrwiyp CQuer QsrfldepeaenGeouni .
) SHANKAR
e n. IAS ACADEMY

-
ey
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(C) yspQupp eNeusmulser

(D) uysPQuHD Mmaelmand G E)T&eT

) SHANKAR |
=u IAS ACADEMY

-
ey
SINCE 2004 Best Academy for Civil Services Exam Coaching

Some parts of the moon never see sunlight. Because the axis of the

moon 1s - to the direction of the Sun’s light.
(A) Perpendicular (By Parallel
(C) Same (D) Opposite

(E) Answer not known

Haciar fa Ledsa auCurgd Giu galloeant LTiEsGsAbm®. Gar

earpred  Hlevellar  HEE & flw @9“”96'“ _ Banssg 25
Gouugne. '

(A) Qsmgssns - (B) @eoamuns

(C) swwors (D) adyrs

(E) &9anL QzMweldene

49 CCSE2E/2024
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73. Match the following : 74.
(a) COq | . Ground water pollution and
particulate in air
(b) NO ‘ . Global warming
(c) Lead (Pb) . Acid rain

(d) Hydrocarbons (Hc)-&An ingredient for the formation of
photochemical smog

@ @G0 @© @
@y e gy
® 2 -1 4 3 | o

s ) SHANKAR
1 e w IAS ACADEMY |

-
ey
SINCE 2004 Best Academy for Civil Services Exam Coaching

(C) 3 2 1
M 2 4 3

(E) A.nswe_r not known

Gemeumeuarauhenls QuIHEEs

Blegsly. ‘lf_,fr wr&EUTE WHMID STHHlD ; 75.

(a) CO: | L 2
' . 2_GTET ‘GI&(@hH(H m&

(b) NOx 2. - Y6l Qeutiuwbwiorge

() snfww (Pb) 3. sfle way

(d) eant Cyramiucr (HC) 4. gl Cauduliue yosuaf
: 2 (HEUMGUSDHETET @ ePpeLIGLIm(mHET
@ ® (o (d) -
@2 3 |

B) 2 1 4
€ 3 2 1
D) 2 4 3
(E) oo Qsflweicreq

=R W s
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74.

o

Assertion [A] : 2-4-Dis used as herbicides.

.Reason [R] : 2-4-Dinduces production of fruits without
fertilization. '

(A) [A]1s true, [R] is the correct explanation

(B) Both [A] and [R] are true _ Either B/D

(C)* [A] 1s false, [R] is true -
(D) - [Al 1s true, [R] is not the correct explanation
(E) Answer not known - |

sapm [Al : 2-4-D savarsQsrodurs Qeuou@dns
smyewrd [R] @ 2-4-D SHAUDTLED Saf 2 (HeUTs STTETLOTEIDS).
(A) [A] sflwreng, [R] eflwren eeréaid
(B) [A] wpmib [R] efwneng :
(C) [A] seuprang, [R] sflwreng 4
(D) - [A] eflwreng [R] eflwmen farésddama
(E) een Qsfwelcrene

B SHANKAR
=% IAS ACADEMY"

smcum«l Best Academy for Civil Services Exam Coaching

Objectivity, Predictability and Generality are the features of

(A) Scientific method
(B) Scientific enquiry
(G), Scientific attitude

(D) Scientific experiment

(E) Answer not known

LDeUWCILL L geew,  (persafiiiuSsemean  whyib | QuigiewsseTD
‘-‘%@UJGDGU' WGlesT DLDEMIGETTS éIGmLDa%l;ng :

(A) efedwe e
(B) ifleflwe afgmyanent

C) eifeue wartumeTao

_ D)  efewe uMCargemer

(E) oL 0sfweioma

51 CCSE2E/2024
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76. Identify the correct expansion/m

eaning of “CEDAW”

expansion and development of Adolescent

(A) Convention of the
Women
(B) Convention of the oxecution of different ideas for women
(C) Convention on the elimination of all forms of discrimination
against women
(D) Congregation of the eradication of all forms of discrimination
against women
(E) Answer not known’
Qeraumaaapie “CEDAW”  ererp aﬂrﬂeuna;asgﬁsm/@urr@smm sflwnss
Caib0lsH&EaseLb.
(A)  euani@erd UneuLIQUETSETET penGeanhod LHMID Afeunés wrBTE
B) QuenseEpésnar ueuGsugu 5 (558 (HeU &S MBI S ET ;r)sm_@sm,muu@g@m
LOTB(H
(C) Quans@EpsE edymer ggqsnemggj s umGUTL gD bsGausHsTer
LG
D) QuanseEsse adymar S@asg 6y UTGUTLG@mEnD @UltusHsTaT
Fenh .
(E)

e Qsfweldea

77. Which one of the following is a one-stop source for all the geospatial
data for the state of Tamil Nadu?

(A)
(B)
©
D)
(E)

Tamil Nadu Geographical Positioning System (TNGPS)
Tamil Nadu Geographical Information System (TNGIS)
Tamil Nadu Global Information System (TNGIS)

Tamil Nadu Global Positioning System (TNGPS)
Answer not known

sOPBTEH wrhlosdbarear oemer afullwed sy sEnHs 9 auareuHled
75 6C1 D566 acags O PRERES R |

(A) s0PETH HelWwd HeneiiLREsd Sy
(B) gﬂg‘r_ﬁr@ HeluGlwed saeud el 5  SHANKAR
(C) sLYREIH ewsameilu soeud @by _Jut |IAS ACADEMY"
(D) sHRET0 2wsameilu Hoauu@sso éﬂsmfgcﬁm e S B S
(E) e Gsflucldena
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78. The United-Nation has declared 1987 as | .

19.

(A) International year of Girl Children

(B) International year of Shelter for the homeless
(C) International year of Women

(D) International year of Cleanliness

(E) Answer not known

1987 - 8 ———— 945 msdwu T sou ANeiSs5.

(A) sreuGges Quar GYHamsseT <y am @ |

(B) srauCGse 2 ewpalib @Gbcong,euﬁas@éa@ 2 @i LD QUPHIGLD <6 (H
(C) e&ieuCse waaflisarar <yem@ | | |

D) sireuCss asss68namear oy,6m@H
(E) &Nevr QsMweferanew

In Which year Flipkart signed a memorandum of understanding
with the Tamil Nadu MSME Trade and Investment Promotion

Bureau?

(&) 2021 S

) SHANKAR |
P BN IAS ACADEMY
(D) 2011

) SHANKAR
() Answer not knowngel} 7" & ACADEMY

-
oy
SINCE 2004 Best Academy for Civil Services Exam Coaching

s opan@ Gefusris, sOPppr® MSME aigssn wppo wss @
sergg il Lflbgemria) LeilESSIL6 PULBSESD ansCwssll L g ?

(A) 2021
(B) 2018
(C) 2001
(D) 2011
(E) ofa Qpflweldema

53 ' CCSE2E/2024
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(©) Qsmfemeri Siewriysafer Cembpd - 3. sHes Qulwm
4

D 3 4 1

80. Match correctly the -following foundations with their corresponding

names:

(a) South Indian Liberal FFede ation A. Singaravelar

(b) Kudiyarasu Journal .. C. Rajagopalachari

(c) Emergence of Labour Oragnis Thanthai Periyar

(d) Swatantra Party C. Natesan

@ ® @© @
A 4 2 1
B 4 1 2
@ 4 3 1
® 3 4 1

(E) Answer not known

@) SHANKAR
¥=% IAS ACADEMY”

SINCEZD(M °  Best Academy for Civil Services Exam Coaching

N DN W W

Gemeumd g Ssenmisamar a@ Qer_iyeorw  QuuisGan@ sflurs
QumBrESs '

(a) Qgenafibglu pe 2 fenog sisn A. SrsmyCeuait

(b) Gyrwrs Qsp C. prgGarunemenf

(d). 5By sL_8 Q. 'E'(gl_&w

@ ® © (@
(A) 4 2 1
(B) 4 1 2
) 4 - 3 1

NN W W

(E) &lev QsflweNdrena
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81.

According to 2011 census, the density of population in Tamil Nadu

1S

(A)
(B)
(€)
D)
(E)

450 per square km
555 per square km
650 per square km
750 per square km
Answer not known

# ="
SINCE 2004

450 e g5y .18
555 e gy 8.8
650 ¢ g1y &.85
750 em &QU 8.8
elen GgMlwaelldena

#
SINCE chl

A SHANKAR
L IAS ACADEMY"

Best Academy for Civil Services Exam Coaching

Best Academy for Civil Services Exam Coaching

Tamil women who were competent in literature, music and drama
were called as

(&)
(B)
(©)
(D)
(E)

Mudukkuravai

Mudinmagalir

- Viraliyar

Kanigaiyar
Answer not known

Yosdub, Gas, prLsD gfuapdlad Csiss G\umm sBlpL Quemser

(A)
(B)
C)
(D)
(E)

eTehT ) @{mgasa;uul_t_mrr
Yg&EEGmeal
(WplgeTgatl
&Slredlwir
sanflengwi

e AsMweidama

55
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83. Choose the right matches among the following.

(1) Thiru.V.Ka | _  Desabakthan
(2) Subramania Bharathiyar — Hindu X
(3) Annie Besant _ _  New India ~
(4) Kasthuri Ranga Ayyangar = Indig “+ L
(&) (1) and (3) only (B) (1) and (4) only
(©) (1), (3) and (4) only ‘(D) (2), (3) and (4) only

(E) Answer not known

Geamaumid euenad@ @anGu sflwmar Qurmsshsmar Gaie] QElwa)b.
(1) Hm..s —  CGssusser

(2)  sugweflu urgHwmi - Qs
(3) emaflQuee - By @bdwur -
(4) sevgnf gis oWk - QpHwur

@A) (1) oo (3) wrGid
©) (D), 3) wpgid (4) wrEwL
(E)  eflen QsMuadrena

(B) (1) vpmd (4) w@o
(D) (2), (3) whmiw (4) v Eid

A SHANKAR .
+2% IAS ACADEMY

SINCE 2 Best Academy for Civil Services Exam Coaching

original name was Kumarasamy Nayak.
(A) Kattabomman

(C) Dheeran Chinnamaléi
(E) Answer not known

(B) Oomaithurai
(D) Marudhu Pandiyar

& QuInQuwr @._gmja:mﬂ BILGST.
(A) 'a;l_L_Qurru)mgm

(B) eareningg)er
(C)  Sren Aenanvancy ~REeTy

D) w© o
(E) e9eni Qs Mwel crang, ' - S8l Lnsmepul

CCSE2E/2024 .
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85. Acccu ding to Valluvar, what is the weapon to destroy the arrogance

of foes?
(A) Heroism ' - (B) Force
(C) Fort | - (D) Wealth

(E) Answer not known

‘Lenseuier BIUEDS  DIL&EGD ‘__,g&u_lfg,[_b’ GTENM  GUET(@EREUT  GTEEmEnd

ﬁutﬁ]@&ﬂmﬂn?
(A) &Sy ‘(B LenL

C) <ipew (D) Qeeveuld
(B) oo Qsfluaidame - '

86. “ that man desire it is plam whom others wealth

Delights not feeling envious pain”. _
Whom does Thiruvalluvar refers to in the given above Thirukkural?

(A) Nor wealth nor virtue does that man

(B) Man of envious heart |
| (C) Envy they have within

(D) Goodman

(E) Answer not known |
' ' 5- SIHANKAR

§=% IAS ACADEMY"

ﬂmﬁﬂ”ésﬁm T SINCE 2004 | Best Academy for Civil Services Exam Coaching

143

Cuemng) oi(psbam LImehr .

erenm weny Hpeudeneui GOUGGEDTiT?
(A)* omer <pés0 Gousimmeer

(B)  <icuclu GpEressrer

(C) <eiwsermy 2 emLwimer

(D) Qseuafwimer |

(E) elen QgMwecrane
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87.

88.

What kind of Dhoti worn by maternal uncle while singing lullaby
you 1dentified?

(A) Silk Dhoti |

(B) Sandal Dhoti

(C) Thuvai Dhoti

(D), Mallu Dhoti

(E) Answer not known

STOMLEHU ur_afléd griwmoer sy aumbbd Ceully. cuams 81?7
(A) ul® Gauly '

(B) spger Geury

C) s@e Geauy

(D) g Gaul'ig

(B) e Qsflusiome

“Utruzhi uthaﬁyum uruporul koduthum?” —

What field is eulogised in this Purananootru Paadal?
(A) Education (Kalvi) |

(B) Charity (Eegai)

(C) Integrity (Nermai)

(D) Truth (Unmai)

(E) Answer not known

‘0ol 2 sefluyn 2 mIQummer Qarssin” —
(Suj!_f}asrr@jﬂ:} Umm
(A) &6

B) ras

(C) Grirerwo

(D) o awens

@_ﬂ!j}QJCIUH'L_G'D 3y eTH6m AmlienL Gueﬁ]u_;g)jggjélmmgj?

) SHANKAR
2% |IAS ACADEMY
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(E) oo Qsfuedhae
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89.

90.

Choo
Ze the Sangam period in whlch the poet Nakk1rar was
considered the most predominant poet :

(a) First Sangam .
(b) Third Sangam

- (¢) Second Sangam

(d) Fourth Sangam . ;

(A) (a)only . ®) Myonly
(C) (c)and (d) only : (D) (b) and (c) only
(E) Answer not known | |

&G @asn@asasuul_(amm &Tev
sHo p&ETT W& a;a%]u_r OIS GTHGF Frhis
srsmss Carbsernss a;@g,uf(b\élgrm? “ = i

(a) Wse shsb
(b) eperpTd FRIGD

© Qrer mb shsibd

B SHANKAR
225 IAS ACADEMY”

(d) prersmb smsb - _

(A) (a) wLEw o (B) (b) v @b |
©) © wpmid (d) weEw D) (b) wHmd (€) LG
(E) oo Qsflwecicoame .

One side of a rectangular field is 15 m and one of its diagonals is
17 m. Find the area of the field.

&) 80m* | ‘(B) 100 m®

(€) 110 m? | D) 120 m?

(E) Answer not known

Qm Qsdieus eya HosHar @O UEE Sere 15 5 wHmibd e @@

epeail b 17 5 erafld, Hlagdler LTLLaTaMme &6ms.

A) 80 52 (B) 100 2
(C) 110 82 D). 120 52
(E). ofleni G'Ig,rﬂu_laﬂebsmm '
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91.

92.

CCSE2E/2024

1£1,2 9,883 afe the faces of al die, 2 such dice are rolled. In how
many cases 21 die face is bigger than 1st die. -

A 3

B) 5

(C) 8

(D) 11

(E) Answer not known

1, 2, 2, 3, 3, 3 wswduysd Qsran @)@ us®L&ET 2 (HLLUUGWL @un@.@,
wad useLwWer s wHumu 6l Qe Tag) useLuwler s wiliy
28 HMs Q) (H&EE UMULILIGET THSMET ?

A 3
B) 5
& 8 A SHANKAR
D) 11 224 IAS ACADEMY

o~
» 1
SINCE 2004 B_est Academy for Civil Services Exam Coaching

(E) e Qsflweldrene

If Rs. 10,890 is divided among A and B groups in the ratio 4:5 then
the group B’s share is

(A) Rs. 1,210
(B) " Rs. 4,840
(Cr Rs. 6,050
(D) Rs. 5,445
(E) Answer not known

5. 10,890 o A wpmbd B e B GWssEHsEE 4:5 aam Hs5H0
95816 Qar@ssmed B guwelne deLésn Qsres aerer?

@A) @ 1,210

B) . 4,840
©) . 6,050

(D) ep. 5,445
(E)  oflen Qs flweidaa
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93.

94.

‘cat=abe 5- SHANKAR
If s=a IAS ACADEMY"
dog:def SINCE 2 Best Academy for Civil Services Exam Coaching
Then which one of the following may be equal to ta{:
co
cba B
A) — . cha
®) aec ' (B) -
cbn
O e | chn,
© ~aee ®) aec
(E) Answer not known '
cat=abc | tan
dom=ilat T @)(HHSTD o TATLIG) | leehm@msmm;bgjm GTSHEITITED
GNESLULGTLD ? \
@ 22 R @) 2
| aec . " ace
cbn '8 - cbn
C) — ; —
.( ) ace - “ D) aec .

(E) ofen Qsflweldrene

E&GBDMANKH2ACZSV3F1JLOQ5PR

What ’Wﬂl come in place of question mark in the following sequence?
GDR BMP D45 ?

@=MNQ= (B) 4NQ

@ MKO D) M4Q

(E) Answer not known B '
E&GBDM4NKH2ACZSV3F1JLOQ5PR

efewrm @gS]uﬁL@é;@u ufers ai(HD ATt erg)?

GDR BMP D45 ?

A) MNQ | (B) 4NQ
(C) MKO (D) M4Q

(E) oQerr Qg Mwelldama
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95. A can finish a job in 6 days whereas B finishes- it in 12 day:. ‘The
time taken to complete the job working together 18 -
(A) 6 days | - (B) 4 days
(C) 8days | (D) 3 days

(E) Answer not known

A erérueuit g Gajemsﬁemm 6 prisallgib B eramuieui 12 [_F)ITL:-&GTﬂQJLb @Lq.uufr
arail®d, @meumb gapres Gsibg <bs Comau TES®ET B saf

LU ?
(A) 6 praer n (B) 4 priser
(C) 8 BT &6 b E : (D) 3 ‘I_'F;FFI:_&»G'TT

) SHANKAR
=% IAS ACADEMY

’ SINCE 2004 - Best Academy for Civil Services Exam Coaching ki

(E) Qe G]g,rﬂu.naﬁ]d)slbeu_

96. A swimming bath is 24 m long and 15 m broad. When a number of

men dive into the bath, the height of water rises by 1 em. If the

average volume of water displaced by each man be 0.1 m3, how
‘many men are there in the bath? |

A 32° | S '{(B) 36

(C) 42 | D) 46
(E) Answer not known :

ONET AGTEHET oifh 58 @m‘ejﬁ
@0 0s.8 2 widpg. R e syrefurs

S s CaualGupmn Bfer weray 0.1 5
‘arafled 2ibs Bégd GoTESD erssaman 2BEMEET 2_6iremenir
() .82 (B) 36
(C) 42 , D) 46 =

(E) oflev Qzflwelerana
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98.

Find the simple interest on Rs. 68,000, at 162% per annum for

9 months.
(A) Rs. 7,500 (B) Rs. 8,500
(C) Rs. 6,500 ~ (D) Rs. 5,500

(E) Answer not known

20 i s 162% eafl . 68,0005@ @eTLg LISHEEEES S
QUL_ly GTGITGT? -

A) . 7,500 (B) . 8,500

€) e 6,500 - D) e. 5,500

(E) ofleL Qsflweidene -

A SHANKAR
225 IAS ACADEMY”

If AI:B.:C'=2:3:'4 th_en %% % is equal to
A) 8:9:10 ; (B) 8:16:24
(C) 8:9:24 D) 24:9:8
(E) Answer not known

| ‘ \ B C
A:B:C=2:3:4 cafle %-5 A GWLDQU'—I
A) 8:9:10 (B) 8:16:24
(C) 8:9:24 D) 24:9:8
(E) efer Qsflucidame

63 CCSE2E/2024

[Turn over

e T TV YT


Highlight

Highlight


99,

'Reaching the place of meeting 20 minute

s before 8.50 hrs Sunil

found himself thirty minutes earlier than the man ;w}})o came
40 minutes late. What was the schedule time of the meeting:

(A) 8.00 - (B) 8.05
(C) 8.10 (D) 8.20

(E) Answer not known

sl b geum@ashE 20 HBlLb peaaGo safld eremueui 8.50 wanfllés;
Qeanprii. it sl Lib gaukEusne 30 Hillb wpaarGr aipbg) L g
o uThSTT. @ walsT smlLsShE 40 HALID STOSTOSLONE @ﬁgnﬁ erafled -

&L gloums GHss Chib eremer ? :

(A) 8.00 4 ~ (B) 805

(C) 8.10 A (D) 8.20

(E) e Qsflweldeana | S\ SHANIKAR .
8 | s IAS ACADEMY

-
¥ 4 .
SINCE 2004 Best Academy for Civil Services Exam Coaching

A can do a certain job in ‘7-12- hours. B is 20% more efficient than A.

How many hours does B alone take to do the same job?

- (A) 5 hours - (B) 53 hours

(®) 6h6urs_ | | D) 65 hours

~ (E) Answer not known — Correct Answer: 6 (1/4)

CCSE2E/2024

‘B’ eranuauir ‘A’ G-.le"GBTL!GLIGU}IJ"QS]I_ 20% <iflswrs Cume Qeudpri. A @6
Geuaneaenws 7—12-_ wanfl Crrsder Qelg wus&SpmT Greaﬂm B wl @b <8
Caumaowu Qewug pyé&s assmar el GHIb a®hds1és Qandreuni?

(A) 5 wanfl Coyid (B) 51 well Grywo

(C) 6 warfl Gy D) 6-;— wewtl Cpirid

(E) eleor Gzflweildema
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